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A 092000036 - 9.6 V - 0.60-2.00 Nm - 1.Muster -0 602 490 433 -Bosch -Schrauber (allg.)
MFU vom 31.01.2001
Einheit: MD [Nm] Anzahl Messwerte: 100  Mittelwert (x-quer): 2.00 Standardabweichung: 0.03 Cm: 2.45 Cmk: 2.42 i
Normalverteilung Toleranz Sollwert —————————Mittelwert (x-quer). ----—-—-—--—-—- Bsi(ed 3 5) seraen R

Cm: 245
Cmk: 2.42
Tol. unten: 1.80
Tol. oben: 2.20
Soliwert: 2.00
Max: 2.07
Min: 1.94
X-quer:: 2.00
s:0.03
X+ 3s: 2.08
x-3s:1.92
Anzahl Messwerte: 100
Winkel: 360
Verschraubungsklasse: 2 - Toleranz +/- 10%
rechtsdrehend
mittiere Geschwindigkeit: 454
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Q8-Torque 32 (c) CSP GmbH & Co. KG 1996-2000



1.08

Exact 2, 0 602 490 433
092 000 036

Winkel 360 Grad weih
Sollwert 100 % = 2.00 Nm
Einzelwert gemessen

10.) 2.04 Nm

92.)2.02 Nm



Drehmoment

Exact 2, 0 602 490 433
092 000 036

Winkel 360 Grad weih
Sollwert 100% = 2.00 Nrr
Einzelwert gemessen
10.) 2.04 Nm

92.)2.02 Nm



